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Problem

EHE29 &2 2ot 2 MBTI S22 B
2 AtE S0 BtA 2 8t Q= ME[HAEQ| I
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MACHIAVELLISM TEST?
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JIE 22070t e| F9
(machiavellianism or machiavellism)—
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In [5]: train. info()
<class 'pandas.core. frane. DataFrame’ =
Rangelndex: 45532 entries, O to 45531
Data columns (total 78 columns):
#  Column Mon-Hul | Count  Dtwpe
0 index 45532 non-nul | int64
1 Qah 45532 non-nul | floatGd
2 (akE 45532 non-nul |l intG4
3 Obd 48632 non-nul | floatGd
4 (ObE 48632 non-nul |l intG4
5 Och 48632 non-nul | floatB4
G OcE 45632 non-nul | intB4
7o Qb 45632 non-nul | floatBd
8 OdE 45632 non-nul | intG4
9 eh 48532 non-null floatBd
10 Qek 48532 non-null intG4
11 Qf4 48532 non-null floatBd
12 QfE 48532 non-null intG4
13 Qoh 48532 non-null floatBd
14 Ml ACC27 mam | He = !
In [E]: test.infol)

<class 'pandas.core. frane. DataFrame’ =
Rangelndex: 11383 entries, O to 11332

Data columns (total 77 columns):

#  Column Hon-Hul | Count
0 index 11383 non-nul |
1 Qah 11383 non-nul |
2 (aE 11383 non-nul |
3 Obd 11383 non-nul |
4 (OkE 11383 non-nul |
5 Och 11383 non-nul |
G OcE 11383 non-nul |
T Qb 11383 non-nul |
8 OdE 11383 non-nul |
9 e 11383 non-nul |
10 ek 11383 non-nul |
11 Ofh 11383 non-nul |
12 QfE 11383 non-nul |
13 Qoh 11383 non-nul |
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intGd
floatB4
intG4
float B4
intGd
floatB4
intG4
floatB4
intG4
float B4
inthd
float B4
intG4
float B4
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age_group : 99
education : 2§ £%
1=2%Z o|Qt, 2=F 3=UtA} Q] 4=AA} BtQ], 0=28¢
engnat : 82017 Fof
1=2%c}, 2= Qct, 0=22¢
familysize : &HIXIoN 4
gender : /44
Male, Female
hand : B8t £
1=98¢, 2=91¢, 3=9¢, 0=-98¢
married : QI Akej
1=0|1%, 2=%12 BE 3=3IHol BZE, 0=2 QI
race : Q=
Asian, Arab, Black, Indigenous Australian, Native American, White, Other
religion : T
Agnostic, Atheist, Buddhist, Christian_Catholic, Christian_Mormon, Christian_Protestant, Christian, Other,
Hindu, Jewish, Muslim, Sikh, Other
tp_ S22 "L XIS S at o) Bt WIteigiSLIct.
tpO1 : QITF=o| FAIAQL|CY,
tp02 : BITHMo| 3 ctFol Qi5Lict.
tp03 : 4Al218 £ Q1! RixI=o) Qi Lict,
tp04 : Qs ¢l 3E YWict,
tp05 : MEL Helojl WEt=ojo) BFSHL|CE,
tp06 : £28% MalL|c},
tp07 : SR=o) asEgtL|cy,
tp08 : SAIAIstR BFogtLict.
tp09 : A%tst FMEOZ QHRiglof Qi5Lict.
g e tp10 : BIREEQYLict.
e =My B (078 A0l o= FEQIX| 1F)
urban : Qu10] HZE JFA
1=AI2Z 2=u9| RIS, 3=KAl, 0=238¢
voted (EHY): Rtk aH 2t A H EB o8
1=Yes, 2=No
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0| Ef 24 9 FK 2|

| | # train IOTE S Fei=f S5
2 oprintinp. count _nonzeroltrain, isnul 1))

=

| # test GIOEHE FE= S5
2 printinp. count _nonzeroltest . isnul 1))

I plt.figurelfigsize=(E,E)]
2 sns.countplot{data=eda_train,s="gender ', hue=eda_train| voted'])

<huesBubplot 2xlabe|="gender’, wlabel="count =

14000
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1 plt.figureffigsize={G,6))
2 sns.countplaot{data=eda_train,x="age_group’, hue=eda_train[ voted'])

<hwestubplot txlabe 1="age_aroup’, vlabel="coont "=
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eda_train. locleda_train[ gender']=="Fenale", sender '1=0
eda_train. locleda_trainl gender']=="Male", 'gender']=1

eda_train['gender']

0 0
| 0
pd 1
3 0
4 1
48527 0
45528 1
45528 0
45530 1
45531 1

Mame: gender, Length: 45532, dtvpe: object
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eda_train[
eda_trainl
eda_train[

eda_train. loc _
eda_train. loc _
eda_train. loc _
eda_train. loc[eda_train[
eda_train. loc[eda_train(

— e e e e

eda_train. loc[eda_train[
eda_train. loc[eda_train(
eda_train['race']

0 5
| 0
pd 5
3 0
4 5
48527 5
48528 B
45528 5
48530 &
45531 5

race’
race
race
race
race’
race’
race’

]

]
]
]
]
]
]

H
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R
0

Mame: race., Length: 48532, dtwvpe: object

» 21T 542 H0[HE =Rt

g2l 8 EAEUM HA=0 Al 12 B E

sian', 'race']=0

rab', ‘race'1=1

lack', 'race']=2

nedigenous dustralian’, 'race']1=3
ative Anerican’, 'race']=4
hite', 'race']=5

ther', 'race']=6

de |
e |
cde |
cde |
de |
de |
e |
cde |
cde |
de |
de |
cde |
cde |
cde |
de |
de |

eda_trai
eda_trai
eda_trai
eda_trai
eda_trai
eda_trai
eda_trai
eda_trai
eda_trai
eda_trai
eda_trai
ecla_trai
eda_trai
eda_trai
eda_trai
eda_trai

nl'wf_01"]
nl'wf_02"1]
nl'wf_03"]
nl wr_01 "]
nl'wr_0z"']
nl'wr_03"]
Nl wr_0a"]
nl ' wr_05"']
nl ' wr_06"]
nl'wr_0O7"']

nl wr
nl wr
nl wr



NI0_Max_Scaler=preprocessing, NinkaxScaler()
I scale=nin_nax_scaler, f1t_transform(X)
L traln X test y_train,y_test=traln_test_split(X_scale |

Ktreg=ExtralregsClassitien|

analy_nodel=xtree. Fit(X_train, y_train)

analy_nodel



2]:

4]:

o

=1
o

A
o

model = Sequentialf[
Dense(32,activation="signoid’, input_shape=i40, 17,
Dense(32, activation="signoid" ),
Densel?,act ivation=signaid ),

1)

S 87t

from sklearn.ensenble import ExtralreesClassifier

mode| .compi lefoptimizer=bdami |r=0.001), loss="binarv_crossentropy’ , met rics=[ accuracy )

hist=model . fit{¥_train,y_train, batch_size=100, epochs==00)

wtree=EutraTreesClass ifi er(bootstrap=False, nax_features=0, SOCCOCOOCOONON criter ion="gini ", min_samples.

Epoch 152/200

awe/EEe |

]

Epoch 193/200

JNERAAER |

]

Epoch 1944200

ANERAAER |

]

Epoch 195/200

JNETRAAER |

]

B3 - ac
Bpoch 1967200

NENEE |
Epoch 197200

]

;ERAER |

]

Epoch 198/200

JERAAER |

]

Epoch 1997200

NETRAAER |

]

Bpoch 200200

JNETRAAER |

]

- 15 ZBus/step - loss:
- 15 Mus/step - loss:
- 1z Fus/step - logs:

- 15 2Hus/step - loss:

- 15 2Bus/step - loss:
- 1 ZTus/step - loss:
- 15 Hus/step - loss:
- 15 BGus/step - loss:

- 15 Jlusfstep - loss:

0.5E61 - accuracy - 0.6231 (
0.5%53 - accuracy - 0.8978
0.5:60 - accuracy - 0.8382

0.5553 - accuracy - 0.89893 0s - loss: 0.5

05553 - accuracy - 0.68974
0.5580 - accuracy - O0.B5989
0555 — accuracy @ 10,6337
055l - accuracy - 0.B930

05649 - accuracy : 069965 v

1252 Aol

st

-1

[, B3R 3]

L

wtreg, fitlH_train v_train)

aval ={1_test y_test)
orint (st ree, scorel _train,v_train))
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A H ¥ - Django

analy.py
& Torms.py

| {7

# models.py
& urls.py

A views.py

# ML_model.py

Django= & 67H2| mO|’M mYU = 44| 0f

0| = At ein} 2E0| A=
forms.py , models.py url.py, views.py I}

(o)
=



M9 - Django
forms.py

AnswerForm(forms.Form):

DjangoOf| A X| & S}= m
HtmIO| A] [} 2 form 3 T = S} X| 2O}
XSe 2 MEO| E|0US




A9 - Django
Models.py

eng

famil

Django2| H|O|E{ E|O| == TI5
Heo| #He| 2 gi0] XfF 2
M, =8 AH| 7ts.

cholce]

ed=models.CharfField(




M9 - Django

url.py

d g:' _name=

urlpatterns=|
pathi
path(

L] '|' l E, ||I.II 5 .

1ndex

views.after_

)
test

Django2| It 1} F 9| url
0| IOl A views.py2
2k Yoj M S ALO| ES &

= ¢

P%F()




M2 - Django
vView.py

i1ndex{request):

ob :I=F';!l:.5-:'£;.l._. 1t () - View.py EI'?EI = inex EI'EQI' after_test EI'EE ?‘Aél
obJ].Name=form.cleaned_data [ 7|'x°|- x'l %O'" LI‘EE rl'." OI xI AE-lxo-l Q‘?‘
obJj.Question=form.cleaned_datal

obj.savel)

HttpResponseRedlirect(

after_test(reguest):

template=loader.get_template(

At X7 U =Ee MIo|EH & Al d R E2 0
ZANAUS csvOlYU R OLS
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